450,000
2
2
2
10
15
14
15
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500 >< 490 /2 123,000
35 =490 /2 8,570
30%
14 65,581t %
4,590t 30%
1,377t 90 /kg 124,000
255,570
451,570
H14 7,620
367  (H159)
( 8,600 ( 7,000
35 / (H15.9)
50 / (H15.9)
10% |
367 y=<533
( x 7 )=1.96
50 245 ( +2%7%)=1.23
35 245 ( )=857
30% = 12
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-
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7 400
2,000 /
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Z
12 16
350 (AKA)
(AIN) (KAS)
(IBA)
(IBR) (BVD)
P13
AKA AIN KAS IBA HmLu-1
IBR BVD PI3 MDBK-SY



14

(AKA)
(IBA)

HmLul

16 17

15
11 14

-H11

H10 H11
H10
—

H14 15
H11 Hi4

(AIN)
IBR BVD

MDBK-SY

10
AKA
10
AKA

AKA  AIN

H14

S -

s —

(KAS)

No.

ol 14 2 3 4 5 6 1341 14
234 <2 2 16 8 4 2 2 <2 32
235 <2 2 32 16 8 4 2 <2 32
No.
ol 14 2 3 4 5 6 1341 14
234 <2 2 16 8 8 2 <2 32 {}
235 <2 2 32 16 8 2 2 <2 16
No.
ol 14 2 3 4 5 6 134 14
3(P I 3) 234 <2 16 256 128 64 64 64 32 512
235 <2 16 128 64 64 64 32 16 256
1
11
1 2 4
35 2 2 1
13.8
KAS 3 19.9 4
29.6
35
30 o (GMm)]
25
20
15
10 o
5
(0]
(GM)
4.1 n=35
155 n=23
226 n=14
32.0 n=3
11 12 2
2 13
3 14 4 2
3
4 32 128
15 5
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11 12 13 14 H15
il
No.
T2 128 64 32
T7 8 32 64 16
T1i0 16 32 16 16
NT
(-]
>
2 4
2
2
or
H1 H14 H1
11 2
No.
T18 NT 2 32
T16 NT 2 16
T19 NT 4 16
T21 NT <2 <2
D73 NT 8 4
T22 NT <2 <2
T24 NT 2 32
i I
No.
D67 2 32
T9 <2 <2
T17 <2 64
AKA AIN KAS
2
2 1 2 2
2
3
1
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1 2
1 2
2 1
44 1 4
14
15 2
9,618
2,000 /
10,000
14
2,000 /
2 H15.2) 9,618
e N s—
o 1,000
1.0 2 5,000
o N



